) =43 -10x 4% K=-2
0(-2\= (a) 24 CaT-10) HS

L= 4 ()(Q}(X’_Wd)iﬁz
-l Y -0 %

| - R

T

X Lox+3 J

')D )= KA 5410

X2 X=9 (3
( -\ xHBYHB)
Al -2 -5 16
L 2 o -0
| 0 5 4
X-5=q
X - o



(a% \ (X)‘—QXBH(Q—SMQ

dlra2 ] -5 2
| 2 3 -2
—2ala 3 -3 Lo\«
| 4 2
I e
X -\

Section 2.4  Complex Numbers

(xn)()b\ )(’Jb(~| )

Solve: x>+ 1=0 (x+i -/ )0

-l x=1j .
G T =V

X=t-1
X= t)
Simplify:
W0 1S IO (\75 )

(VA5-+/5)

t < , S
e Y () (i)
E 3 25 (305-105)

o 7
E:
-52

(a;ﬁy
4)*(s)
‘QO



Complex number in standard form:

a + bi
/ \

real imaginary

3+5)

Conjugate of a complex number
a+ b| = d T b|

opposite of the imaginary part

State the complex conjugate:

2 g
7 7

-4 41
5-3i =543

Multiply each complex number by its complex conjugate.

a) 1+i b) 4-3i c) V-7
Cied-y  Coalees) (i7)X)
=14 -)2 “’*'9’('%'(‘%3 2=
|- b9
|+ (1) q5

A%



Simplify:

2i + (-3 - 4i)gf33 730) (5 - 3i) + (3 + 5i) - (8 + 2i)
Ri-3-Y 1 +3+3) 0
\
-5(3 - 2i) 3(4 + 2i)? (4 + 5i)(4 - 50)
~15 410, 3 (LH'Q'\XL{‘I'JD l(o-%-@d\‘QSi)
316 o481 +4i%) lo#3s5= |
36410} -4)
5( \QH(O]B
RIS
Divide. Write in standard form.
X)) . L.
< tHiHRI 6 D SRCEETR D
—q| -\-L\l
(2+3D)Hta)) _ 2416) (2+i)( a+|\) 3+L1, 9-4i (i)
(4-2i) (ws21) 20 (2-DYat) 5 )T
b o180 -7 4 2017 1)
| —]
2+ b 244 -4-9
0
v le '\
0

S
L +y.
I S\



Solve:

3x2-2x+5=0 8x*+14x+9=0
X=2 144 @E)s)
QA(3)
= atyTsg
—_ "%y
© 2tiR3
X< D\*ZQ\\]T({ <
b
3
AT
Rl
Chapter 2.4

Pg. 150-151: #8, 9, 11-37 odd, 40, 48, 52, 59, 63,
69-72,77, 85 86, 94
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